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Directions to candidates:

e All questions are t0 be attempted. TEA "611::1113;{5 USE
e All necessary working must be shown in every question. o
e Full marks may not be awarded for careless Or badly arranged Q.1 10
work. — -
o Each question attempted should be started on a new page. Q-2 J1e;
o Write your student number on this cover sheet and on every -
sheet of paper you use. Q3 1O
e Approved calculators may be used. _Q_Z _____________
Hand in your work in 3 bundles. 8 |
Section A Questions 1 and 2. I
Section B. Questions3 and 4. TOTAL
Examination paper. Z-
, 33 5~
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a) Sketch the following function: ns highlighting the main features. Also state the
Jomain and the range for each of the following functions.

i) y=|x+1| (2m)

i) Y=— V9 - x (2m)

i) yel= —— (3m)
x—1
b) Sketch the following functions highlighting the main features.
iy y=tanX. 0 <x< 360 -
(1m)
p o oy=27" -1 - P
| (2m)
Question 2. '
2l |
a)  Solvef 21 _ N T e 3m
a olve for x: (¥ e / TR (Bm)
p
() x°+2x<3 A (2m)”

b) Find the equation of the line passing through (1,3) and perpendicular to
3x + 4y +1=0. (3m)

c) Copy and Complete the sketch of the following function given that it is
an odd function. 24

L , (2m)
3% .
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Question 3.

a) Solve for x:
@) sin2x= -12— 0 < x <360° (2m)
G) tanx=- 1% ~180° £ x < 180° (2m)
p) Show that _cosb_ Lsind 2 - (3m)
1+sin6 cos @ cosf
1
¢) Show that secx—tanXx— =-—2tanx (3m)
gecx —tanx
Question 4. . - -
a) Solvefor X 2cos? x =1+sinx 0<x <360° (3m)
by @ Sketch y=|x| and y=x2 _n onthesame aumber plane. (1m)
(B3m)

(i) Solve for x: \ x| =x*-2
where < ACB is obtuse- AC =BC=1cm-
d <BCDis 6

s an isoceles triangle
1

p=—AD an
2

d) ABCi
BDis

perpendicular to AC produced and B

Show that sin8= 1cosf
2
expressions for the area of triangle ABC) (3m)

( Hint: Find two different

A
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